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1. Introduction
This document provides missing information for the H.248 profile specification.
2. Reason for Change
RTCP is fundamentally optional for RTP sessions, but almost all RTP applications using today RTCP. It may be thus supposed that the RTP sessions handled by the IMA-MGW will use also RTCP. The support of RTCP may be just the minimum functionality concerning the exchange of SDES, SR, RR and BYE RTCP packet types.
Support of RTCP does imply the requirement for transport address allocation by the IMA-MGW for RTCP control flows.
3. Conclusions

Add an overview procedures on RTCP handling. Specify the relation to the H:248 protocol element (= gm/rsb property) which is used for that purpose (see also C4-082678).
4. Proposal

It is proposed to agree the following changes to 3GPP TS 29.334 V0.0.1.
*******
* * * First Change * * * *

5.17.1.7
RTCP Handling

Handling of RTCP is already partially addressed by clause 5.17.1.1. This clause defines further procedures for RTCP.

5.17.1.7.1
RTCP Transport Address Allocation 

5.17.1.7.1.1
Local RTCP IP Transport Address Allocation

In line with the recommendations of RFC 3605 [31], separate address or non-contiguous RTCP port numbers (identified via the "a=rtcp" media attribute) shall not be used by the IMA-MGW in its LD.

Local ports for RTCP are implicitly allocated by the MG whenever instructed to do so by the MGC via the gm/rsb=ON property. The MG must follow the port allocation rules as defined in clause 11/RFC 3550 [i.8], which results in the allocation of a contiguous port pair for RTP and RTCP within a single stream.

If the gm/rsb property is set to OFF, then no RTCP port is allocated in conjunction with an RTP stream.  This behaviour is irrespective of the presence of the "a=rtcp" attribute in the related RD.

5.17.1.7.1.2
Remote RTCP Transport Address Representation/Usage, Implicit Allocation of IP Transport Addresses for RTCP

RTCP ports are allocated either implicitly or explicitly when support of RTCP is required. RTCP support and RTCP address and port allocation is controlled as by the gm/rsb property and the "a=rtcp" media attribute line in the Remote Descriptor. If RTCP is sent within the same stream as RTP then RTCP port allocation is handled as follows:

· gm/rsb=OFF or gm/rsb omitted.

· RTCP support is not required. No pinhole is opened for received RTCP packets. No RTCP packets are sent and any received RTCP packets are silently discarded. This is irrespective of whether the "a=rtcp" attribute is present in the Remote Descriptor.

· gm/rsb=ON & "a=rtcp" media attribute line not present.

· RTCP support is required. A pinhole is opened for received RTCP packets. The MG must follow the port allocation rules as defined in clause 11/RFC 3550 [i.8], which results in the allocation of a contiguous port pair for RTP and RTCP within a single stream in the Local Descriptor (see above clause 5.17.1.7.1.1). RTCP packets are sent to the the same address and contiguous port number to the RTP port as specified in the Remote Descriptor.

· gm/rsb=ON & "a=rtcp" media attribute line present.

· RTCP support is required. A pinhole is opened for received RTCP packets. The RTCP port and optionally address are explicitly identified by the included "a=rtcp" media attribute line. The MG must follow the port allocation rules as defined in clause 11/RFC 3550 [i.8], which results in the allocation of a contiguous port pair for RTP and RTCP within a single stream in the Local Descriptor (see above clause 5.17.1.7.1.1). If  the “a=rtcp” media attribute line in the Remote Descriptor contains an address it is used as destination when sending RTCP packets. The destination port for RTCP packets is always explicitly identified via the "a=rtcp" media attribute line in the Remote Descriptor. 

5.17.1.7.1.3
Unsuccessful transport address allocation

In line with clause 5.17.1.7.1.1, a fully specified RTCP port nor address are never used by the MGC in the Local Descriptor. Therefore, unsuccessful port allocation can only occur due to there being insufficient resources on the MG to allocate the (contiguous) RTCP port. Unsuccessful scenarios result in the MG responding with H.248 error code #510 ("Insufficient Resources").

5.17.1.7.2
RTP/RTCP to-H.248 Stream Mapping

In line with clause 5.17.1.7.1.1, a single common H.248 stream is always used for RTP and its associated RTCP flow.
